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The L.C.M of denominators of % and 22—5 is

The smallest like denominator of % and % T e

L YOS i Months.
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Answer the following questions J

® Samira studied MATH for 1 % hours and scince for 40 minutes . How many minutes did
Samira study inall ?

Remas and Fatma bought pieces chocolate , Remas ate % of them and fatma ate éof
them and 12 pieces are left . What is the number of pieces did they buy ?

Mohamed bought a book by % of his money and a candy by ; of his money and saved the
left money . What fraction of money does Mohamed save ?

Yara's garden consists of % poppies, iroses and flowers in the rest of the garden what
fraction of the flowers in the garden ?

Besan collected 6% of honey . She gave his sister Sandy 3 % kg of them . How many
kilograms are left ?

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

Yousef spent g of his money for buying candy and % for buying clothes.  Write their
fractions with like denominators .

Kareem reads for 3 % hours and runs for 20 minutes . How many minutes did he spend in
all ?

©@ 60 @ 6 © @ ©

MR Mahmoud Elkholy walked 1% km and his student Ebrahim walked 2% km more.
What distance that Ebrahim walked ?

O,

Lenaate 1 % kg of fruits, Yasin ate % kg more than Lena and Jana ate kg less than
Yasin . How mamy kilograms did Jana eat ?
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ALCIW AGEND.

Seif studied MATH for 3 i hours and scince for 30 minutes . How many hours did Seif
studyinall ?

IF Mohamed has 2 E kg of flour . He used 1 51 kg to make a cake . How many kilograms of

flour with him now ?.

nnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnnn

Ahmed collected 6 % kg of honey. He gave his sister 3 % kg of them. How many

kilograms are left ?

k 3 2 3
el —_— — 4 —
7 14 14 14

-------------------------------------------------------------------------------------------------------------------------

Asmaa bought % kg of oranges. she use % kg to make juice. What is the remainder of

oranges ?

Rawda boughtg kg of beans, She used % of them to make falafel , then What is the
reminder of the beans ?
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choose the correct answer J
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The L.C.M of denominators of % and 22—5 s .....25.....
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%year: ......... 9...... Months.

The smallest like denominator of 6i and % is......0....

7 7 1
IF—+m=1thenm-=...— = —-....
14 14

2
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= = 3 o (as a mixed number)
L E . :
K (as an improper fraction )

2 A SRe
6 6
v LS = 1i ...........
4 4
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Answer the following questions J

@ Samira studied MATH for 1 % hours and scince for 40 minutes . How many minutes did
Samira study inall ?
1%>< 60 =90min \\ 90+ 40 = 130 min

Remas and Fatma bought pieces chocolate , Remas ate % of them and fatma ate éof

them and 12 pieces are left . What is the number of pieces did they buy ?

3/.2 7 e 303 12 :
=g==s\\ LUt e R

Mohamed bought a book by % of his money and a candy by % of his money and saved the

left money . What fraction of money does Mohamed save ?

1.z 43 13 _ 8 ;
5T o I e e

Yara's garden consists of % poppies, %roses and flowers in the rest of the garden what
fraction of the Flowers in the garden ?
@, 145 Nt
At \y 21 8 8 .
Besan collected 6 - of honey . She gave his sister Sandy 3 T kg of them . How many
kilograms are left ?
62+32 21
T X
Yousef spent - of his money for buying candy and - for buying clothes.  Write their

fractions with like denominators.
10 9

12" Sl

Kareem reads for 3 % hours and runs for 20 minutes . How many minutes did he spend in
all ?

3-hr=60x3+15 =135 min

195 + 20 = 215 min

MR Mahmoud Elkholy walked 1% km and his student Ebrahim walked 2% km more.
What distance that Ebrahim walked ?

1-+2-=4-=km

©@ ©® © 6.0 © ©

O,

Lenaate 1 % kg of fruits, Yasin ate % kg more than Lena and Jana ate kg less
than Yasin . How mamy kilograms did Jana eat ?
in= 120419
yasin = 14 -}—35 =1 = kg

19 13
Jana = 15—3— 15 kg
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Seif studied MATH for 3 i hours and scince for 30 minutes . How many hours did Seif
studyinall ?

3%+%: 3% hours

IF Mohamed has 2 % kg of Flour . He used 1 51 kg to make a cake . How many kilograms of

flour with him now ?.

2 1 1

Anas ate = ; kg of oranges , Mona ate % kg . what they ate together ?

Ahmed collected 6 % kg of honey. He gave his sister 3 % kg of them. How many

kilograms are left?

® ® ® ® 06

6— - 3 =3—kg
Fmd the value of K in the Following
3 2 3

—F ks
Rig2
Asmaa bought % kg of oranges. she use % kg to make juice. What is the remainder of
oranges ?

5 T .
7 T3 " 721°8

8

Rawda bought 5 ke of beans, She used % of them to make falafel , then What is the

reminder of the beans ?
8
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